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Sketch, showing all intercepts

1) y = (x – 1)(x + 2)2                     2) y = x(x + 3)2                         3) y = x2(4 + x) 
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A rectangle has an area of 12m2. 

What are the possible dimensions of the rectangle? (length & width)
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Two numbers, x & y, multiply together to give 12. 

What are the possible values of x and y?

What graph is produced?

Complete the tables and 

plot points to graph these functions 

1)  xy = 12


2)  xy = 8 
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The equation can be written in different forms


xy = 12   or…    

What does changing ‘c’ do?     
What happens if ‘c’ is negative?     
Does the basic hyperbola graph have an x or y intercept?
An asymptote is…

How do we find the x and y intercepts?
What values are undefined in the graph (or function)
A hyperbola has two parts – it is not continuous
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Vertical translation
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Mark in the asymptotes and any intercepts
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Horizontal translation
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Sketch and mark any intercepts and asymptotes
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3)  
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4)  
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Sketch and mark any intercepts and asymptotes
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Vertical and horizontal translation
Mark in the asymptotes and any intercepts
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Horizontal asymptote
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Sketch and mark any intercepts and asymptotes
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The general equation                               can be rewritten in the form
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How?
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2) 


Sketching from the form 
x intercept


Put y = 0 and solve

y intercept


Put x = 0 and solve

Vertical asymptote


What value of x makes the function undefined (division by 0)

Horizontal asymptote


What happen with extremely large x values (when x is infinite)
Sketch and mark any intercepts and asymptotes
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Ex 11.02
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Hyperbolas as rational functions
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Rectangular Hyperbola: Introduction
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Hyperbolas Sketching C
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Hyperbola: Overview
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Ex 11.03








_1176101143.unknown

_1176101881.unknown

_1176102716.unknown

_1176103362.unknown

_1176115882.unknown

_1176102629.unknown

_1176102428.unknown

_1176102451.unknown

_1176101572.unknown

_1176101837.unknown

_1176101605.unknown

_1176101527.unknown

_1176101186.unknown

_1176098800.unknown

_1176100883.unknown

_1176101027.unknown

_1176099408.unknown

_1176099354.unknown

_1176096896.unknown

_1176098780.unknown

_1176097692.unknown

_1176059806.unknown

_1176059819.unknown

